NMMS-2013 —
STD - VIII Fr —}

Time : Part-I : 45 minutes Part-1 : Total Marks : 50
Part-Il : 45 minutes Part-11 : Total Marks : 40
Part-I11 : 90 minutes Part-II1 ;: Total Marks : 90

Date : 17-11-2013 TIME : Part-] : 11-00 to 11-45
SUNDAY Part-Il : 11-45 to 12-30
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Part-IIT : 12-30 to 14-00

Please Read the following instructions carefully, then you answer the questions on
OMR answer sheet

Please write name of the centre and your Roll No. on the OMR answer sheet in the
proper column.

This test is in Three parts i.c. Part-I, Part-I1 and Part-11l. Part-I contains 50 questions, Part-II
contains 40 questions and Part-I1l contains 90 questions. Each question carries One mark.

All questions are compulsory. Do not try to read through the whole question paper
before beginning to answer it. Begin with the first question and keep on trying one
question after another till you finish both parts.

Il you do not know the answer to any question do not spend much time on it but pass
on to the next one. If time permits you can come back to the questions which you have
left in the first instance and try them again,

The last pages of this question booklet is meant for rough work.

Remember you have to mark your answers on SINGLE OMR ANSWER SHEET
i.e. Part-I, Part-Il and Part-IIl all are in single OMR answer sheet.

The OMR answer sheet is commor

1 number 1 to
 are based on

n of the examination.

any dispute
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In the following 11 to 20 questions one group of alphabets is different accnrdi_ng to
some principle lying behind it. The different alternative is your answer. Show it in an
another answersheet. -

A 2uda 1 A 20 wedlni As s A A5 Rarugae g W 8. 7 g w9 d
AR U B AR el FausuA Gur galdl,

1. (1) orQ @) BCD (3) LMO (4) HLJ
12. (1) ABe (2) PQL (3) XYz (4) HPb
13. (1) CE (2) PR (3) LN 4) GJ
14. (1) BPC (2) LRM (3) DOH (4) OSP
15. (1) CEG (2) KMP (3) RTV 4) UWY

16. (1) EHK

(3) LOQ 4) GImM

i (4) QPO

(4) TSGH




In the following 21 te 25 questions, equations are formed by putting any three signs
+ X = + — in an appropriate order in place of *. Four options are given for the answer
of these signes. Find out the correct answer and show it on your answersheet.

Aden 21 A 25 el * A ool = x = + — il Ao Reaad dla s sl

alls2el oA 9, Raudlaliqu ssui 2 Rsedl wuda 8 auidl el yaer Wl G
AMIZL ¥t salal.

21, § * 8§ * 80 =* 2

M)+ =X @)X =+ @) — = + @+ = -
22. 9 * 9 * 10 * §

=+ = Q) X+ = @)+ = = @+ X =
23, 3 * 7 % 15 * 6

)+ =X @) X = X @)+ =+ @) X = +
2. 2 ¥ 3 % §5 = 10

() + + = @+ X = @)+ - = @+ + =
25. 70 * 14 * T % ]}

) %+ = @ie== @ ++ = @ + =+

In the following 26 to 30 questions, find the value by simple form.

Qw26 A 30 wsdui ag 3w 2l Bud sl
% WXIEEE WM 5 e

(1) 80 i
27. 18—8:+7=_
@3

|
}

-
i~
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Four figures are shown in the following 31 to 35 questions. One figure differs due
to some reason. The different figure is your answer. Show it on your answersheet.

93 vl 31 ) 35 usdni 22 sughiod Al 9. As 2l A6 sREAR el W 6.
2él W B A vugR asl gt 8. A4 g Gur saldl.
B
A

l O | ‘ Al QO ‘ O
(1 (2) (3) 4)

L]

O
%] 0 *| *Dl 48 A'

32.

(1 2) 3) 4

35,

() (2) (3) (4)




In the following 36 to 40 questions are one figure is given on the left side. You have
to find out the *‘Mirror Image’ from the given alternatives. Find your answer and show
it on your answersheet.

A2 2uden 36 A 40 usAlui Sl oug ws a4l 20l 8. d 2uslql ‘e 2usld’ wn
il AR ([Asennidl Asui 2dl 8. sio 2ugf Hl duil waus ua Gur Faw caidl.

36.

(1) (2) ) )
37.

(1 (2) 3 4)
38.

(1) 2) 3) )




41.

41.

42.

42.

43.

43,

44.

45.

45.

sl Sisdaidl edaui sioll ool vgamn 53 A ruell cugidl daw 50 6, dl d
sl g4 Sedl wisdel ¢l ?
(1) 29 (2) 28 (3) 25 (4) 27

In raw of girls Kavita is on 15th from left and 13th from right, then how many girls
are in that raw ?

(1) 29 (2) 28 3) 25 4) 27

A 5l B GUl 8, C 52di D Gl 8, B $2di C Gl 6, dl Al Al sia eat ?

(1 B (2) A 3 D ) C

B is taller than A, D is taller than C, C is taller than B, then who is shorter ?
(1) B @2 A (3) D @) C

Az Wl uddl adld gz 8, dl d WM sdl @z uim quid suad ?

(1) alRar @) 20aar (3) AlHar (4) HAaNAR

Ist day of November month is Friday, then which day will come five times in
November month ?

(1) Saturday (2) Sunday (3) Monday (4) Tuesday

Hidl 24 YA il GHR-L uaoll 40 adf 6, di 5 af udai sid-l Gyl urawll dedl
s ?

(1) 45 @) 35 (3) 30 (4) 40

Sum of age of mother and daughter is 40 years, then what will be the total age
before 5 years ?

(1) 45 @) 35 3) 30 ) 40

A UL Sl HIZL O, MR AU Sl Al © WBL UL 52l HIZL B, MO MR Sl Wial
8 el 4 sl el O, di All Wig s edl ?

(1) R™MQ (2) ®Hd (3) W (4) WA

Nayan is older than Raman, Bharat is ynunger than Nayan but older than Raman,
Magan is older than Bkm& but younger than Nayan, then who is oldest ?

(1) Raman (2) Bharat @Magan (4) Nayan
A aa Bl oS 9, CAB-A A A1 B U B dl A WA € a2l sl Fein
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47, “ARE’ A 95 s owunt 1185 el s dl, A o uiBls el EAR A 5dl 44
quyy ?
(1) 1815 (2) 5118 (3) 1518 (4) 5181 |
47. In code language ‘ARE’ written as 1185, then in same code language how to write
‘EAR’ ?
(1) 1815 () 5118 (3) 1518 (4) 5181
48, il 2ugfd sa Aasn deal AR W !
(1 12 2) 15 39 (4) 21
48. Total area of given figure is how many squares ?
(1 12 @) 15 39 (4 21
49. 2uidl suglini ga beean Aku O 7
(1 12 (2) 16 (3) 17 4) 20
250d 49. How many total squares in given figure.
(1) 12 (2) 16 (3) 17 (4) 20
50. 2wl 2uglani g4 edl sl © ?
(1 7 (2) 10 (3)9 4) 12
50. How many total lines in given figure.
(7 2) 10 3) 9 @) 12




NMMS-2013
PART-II
[deuar-2
SCHOLASTIC APTITUDE TEST
(Language Test)
snousl slEadl S22
\ (e 5218)
| Question No. 1 to 40
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o - (554 dpsadl Weaw) - Language (Only for Gujarati Me

1.

10.

el - 28 1 A - e,
(1) zengdll (2) s

CETR IR AN

(1) s ¥q (2) 31 5l
NUNA osanvenecss

(1) diedl2 (2) 2ugR

Bazt X Ad @ A X oo
(1) diRl (2) 4=l
Rouy wellll Jleopdd)l oalm,

(1) ivud (2) tigx
Copell” Sl 5[ ...

(1) eqUaAAH (2) Ass S
il osell @l :

(1) Sl (2) sl
Segdad AL cevrecrirnns

(1) uldur (2) My
Bivd - AL, YA - s

(1) 2 2) W
@il UBd AU, A¥dl e WA

iR 12 G Addi, qivl ¥ su.

(1) eibel B

3) sl

3) S %g
@) s

(3) s

(3) vi2

(3) sla vllees:
@3) ¢l
(3) A3

@) s

iz ugl 2Ad usdi udaidl an’ w2l s
£

dium)
(4) WAl

@) uud g

4) dedl

4) 1™

(4) ®dl

(4) Guugis2 ol

@) sl

@) St

@) 28l
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NMMS-2013
PART-II
[Qeua-2

(Language Test)
auudla s®aRadl sl
(o 52019))

} | Question No. 1 to 40




ML - (554 2w HY) - Language (Only for English Medium)

1. Findout different word from given below.

(1) Apple (2) Orange (3) Potato (4) Mango
2. HOT X COLD, DAY X .o

(1) Night (2) Date (3) Light (4) Fight
3. Find article :

(1) am (2) are 3) is (4) the
4.  How many ... — 2

(1) Milk (2) Books (3) Water 4 Oil
- TR | [ -

(1) fourteen (2) foruty (3) forty (4) forteen
6.  What is past passive participle of verb ‘Go’ ?

(1) to go (2) going (3) went (4) gone
7.  What is past tense of ‘See’ ?

(1) She (2) Seen (3) Saw (4) See
8.  Teacher, Student, Black Board ...............

(1) Ambulance (2) Axe (3) Animal (4) Books
O - e is Bhavika.

(1) She (2) It (3) Am (4) He
10. Two hundred means ........

(1) 5 X 20 (2) 10 X 20 3) 9 X2 @ 7 % 20
11. Krishma has .............. many records.

(1) brokened  (2) broke
Before he joined this business he Was .. uni
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17.

19.

21.

22.

(4) either

(4) domestic

(4) messge

(4) sung

(4) tow

(4) had gone

(4) play

(4) accept

(4) will be open

(4) sugar

) ?

(4) not

IIT: visit ............ Malaysia or Singapore.

b .. (2) too (3) neither
Bour.......... animal,

ﬂ) m (2) domastic (3) domise

0 W (2) message (3) meseg

Manj .............a song in the party.

(1) sings (2) sing (3) sang

| m'mm tired to go in the party.

(1) to (2) two (3) too

Mala and her friends ............... on a picnic today.

(1) went (2) have gone (3) has gone

Naman usually ............... cricket in evening.

(1) is play (2) plays (3) played

Payal says she can’t ............... our invitation to dinner tonight.

(1) angel (2) across (3) almost

The showroom ............. .. by now.

(1) open (2) will open (3) will have opened

(1) garment (2) cotton (3) shirt

What is the plural of WD - find appropriate Punctuation mark.

M . @ : @) 3

(1) the (2) an (3) a

(4) very

(4) some

) for

(4) goes

@) Is
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NMMS-2013
PART-III
[deu-3
SCHOLASTIC APTITUDE TEST
uoudla Aldaydl s
Question No. 1 to 90
us4 4. 1 4l 90
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8 3 80 U rdd Jeew 3R daael) 5% 51 A ?

(1) 76 (2) 85 3) 84 (4) 80
8. To earn 5% profit on article of Rs. 80, at how much rupees an article to sell ?
m 76 (2) 85 (3) 84 (4) 80
Woousal o %
SN e = =
9 4 5 47 T e Lelehyaineh
(1) 60 (2) 20 3) 40 4) 30
Xy o1 By gl X
i = =
9 3 i s BN ovenisiosns
(1) 60 @) 20 (3) 40 ) 28

10. % A QA uza v 46w ?

5 5 3 3
o, 20 e S 3 e
® 3 @) =3 @)z @) =3
’ S o
10. Which is the multiplicative inverse of the opposite of ar
5 8315 3 3
® 3 @ -3 @) 3 ) —
1. @x+ 1P = e
(1)9x2+1 (2;9x’+6x+l B) 9 +3x+1 (@) W+ 1

(3) 9 + 3x + 1 (4) 32 + 1
3) Bm? - 2n)? (4) 9m* + 4n?
3) 3m* - 2n)? (4) 9m? + 4n?

(@) 254 + 9
o (4) 25a* - 30ab — 9b?

- @nerw
ot l@ﬂjzssﬁ 30ab - 9p?

@) 24x?

(4) 24x2)2




16.

16.

17.

17.

18.

19.

19-

20.

18.

g Adgrsieni A8 vEuRllL Y A4sA 750, 65° A 1200 D, dl B Agrsiari Al visud
WU 2lHL,

(1) 100° (2) 80° (3) 60° (4) 90°

Measure of three angles of a quadrilateral are 75°, 65° and 120° respectively.
Find out measure of fourth angle of the quadrilateral.

(1) 100° (2) 80° (3) 60° (4) 90°
60° 4 sil2star yessle] wy deg ww ?

(1) 120° (2) 150° (3) 30° (4) 40°
:Vhat is the measure of supplimentary angle of complimentary angle measuring 60°
(1) 120° (2) 150° (3) 30° (4) 40°
SR As0 Al Yo 54 © 7

(1) 2mrh (2) 2me (3) Th (4) TR
Which is the formula to find volume of a cylinder ?

(1) 21rh (2) 2@ (3) Tk (4) TTEh?
13 24 7 4 AL A @ Al deusi s2dl wu ?

(1) 13 Q@) 7 3) 1 4) 91
What is the multiplication of H.C.F. and L.C.M. of 13 and 7 ?

(1) 13 @ 7 3) 1 (@) 91

3 . ; :
12 A sAL usRAl qvaL 8 7

(1) yais ) suin-ayals  3) B (4) AU

What kind of number is 1— ?

,__’_',_-sfmation (3) compound (4) irrational

@J EYEY @) Besa
teimulm' ground ?
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2. Al s WGl 3 6 7

(l? jmm‘l @) Alslas (3) 2[Rlaq (4) VNE AHIH
22. Which of the following are manmade fibres ?

(1) Nylon (2) Acrylic (3) Terylene (4) All of above
23 PV.Cg 43 - T

(1) wlEalzs seiass @) U2t Rusa sdluds

(3) uld Ruda sass (@) As um 4l
23.  What is the full name of P.V.C. ?

(1) Polyvarnished Chloride (2) Para Vinyl Chloride

(3) Poly Vinyl Chlioride (4) None from above
24, sW USRAL s Al ay worvd Sl B ?

(1) 30 s ) seisilbs s

(3) ydeys s1a @) 2254 515012
24. Which type of glass is the strongest ?

(1) Coloured glass (2) Photochromic glass

(3) Bulletproof glass (4) Optical Fibre
25, DA-idl sal wraaEa ued © ?

(1) Qaiviz (2) Qs (3) uzu2 4) 514
25. Which of the following is manmade object ?

(1) Iron (2) Wood (3) Stone (4) Glass
26. Bud edl awdli ¢ 8 ?

(1) 5 ) 4 3 3 (4) 6
26. How many surfaces a Prism have ? -

ms @4 @3 @) 6

@) Rl
(4) Diamond

@) =y

etre (4) Newton
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37.

37.

38.

38.

3%

39.

40.

40.

41.

41.

42.

B 2199 2 & 7
(1) C;H, (2) CH, (3) C3Hy (4) CHyp
Which is the molecular formula for Methane ?
(1) C,Hg (2) CH, (3) C;Hy (4) CyHy
S A 239 Yot 628 Al wlopmami 2d 8 ?
(1) s elisuds  (2) siluem (3) S8t (4) Uzl
Whose solid form is known as Dry ice ?
(1) Carbon Dioxide (2) Oxygen (3) Hydrogen (4) Nitrogen
WiRgad wmals a5 8 7
(1) suad w53 (2) SIS
(3) sluz U2 ) AyMRun sige
Which is the chemical name of ‘Morthuthu’ ?
(1) Iron Oxide (2) Hydragerum
(3) Copper Sulphate (4) Aluminium Phosphate
uRldl dsu 56 © ?
(1 p (2) Au (3) Pb (4) Hg
What is the sign of Mercury ?
(1) p (2) Au (3) Pb (4) Hg
Aa-uaiel sdl wed AR B ?
(1) NaOH (2) HCI (3) KOH (4) KMNO,
Which of the following matter is an Acid ?
(1) NaOH (2) HCL (3) KOH (4) KMNO,
DAuidll 54 Pam 8 7 |
@es L R AE L B s (4) willBuosm
'hich of the following is a compound ?
St 2) Salt |

i Ly, ..(2
S iy - N TRy Pty & 3 ooRE
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S RN 8y 816y e W s 9 7

() aam (2) Sldlan M 4 (4 el
- Whhh of ‘the following iy rosponsible for Typhoid 7

“;)_ Virus (2) Bacterin () Fungl (4) Algne
S, Mg wdlRml ol heell e i o 7

mxn @ M (%) 4o (4) 23
S How many pairs of Chromosomes e theve In a human body 7

A (2) 31 (3) 46 (4) 2
58 Rl sl oo wlas duie 2 0 9

(1) Wl (2) ga (3) 80 (4) 4
S5 Which part of o plant prepares food 7

(1) Leaf (2) Flower (3) Fruit (4) Koot

SOCIAL SCIENCE
56, ‘ouslaony’ e L ol 691 el

(1) AWM ANALSA2 (2) murds wazadl
(3) &ss00M1 (4) 2l [ad b1z,
56. ‘Brahmo Samaj' was established by ...............
(1) Raja Rammohan Roy (2) Dayanand Saraswati
(3) Thak ‘bapn (4) Swami Vivekanand

57, aanll @AGHES QMR AN o
(n u e (2) ALrmuY Enl
. (4) Y gn

(2) Narendeanath Dutt

_ ik (4) Surendranath Dutt
e Aludl 2200 540 ed),

(2) de Mia2y

, () U run

(4) Yo -aieu
Thar (4) Mumbai-Thane
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60.

60.

61.

61.

62.

62.

63.

63.

64.

65.

65.

‘de Wy’ ofld 58 Aqasamill day © ?

(1) Datus (2) Nus (3) HHEus 4) [Rums
From which novel ‘Vande Mataram’ song was selected ?

(1) Jivanmath (2) Sarangimath (3) Anandmath (4) Virammath
UCTE: 15 T - waHl 2y 8.

(1) 1757 (2) 1947 (3) 1857 (4) 1775
Battle of Plassey took place in the year ...............

(1) 1757 (2) 1947 (3) 1857 (4) 1775
Sl vttt 3wl eldRien sidll as ?

(1) SR (2) &4l (3) = ORI
For whom murder case Bhagatsingh was hanged ?

(1) Dyre (2) Henry (3) Saunders (4) Kennedy
PUBE IR USAL AL ASHHIA ©vovrrienene, dal.

(1) FndAa 8> (2) UER UMD u2d

(3) $L. ABEUAE (4) sl

............... was independent India’s first Deputy Prime Minister.

(1) Jawaharlal Nehru (2) Sardar Vallabhbhai Patel

(3) Dr. Rajendraprasad (4) Bhagatsingh

2iAAB oPPuNAL MLl SA3 WAL ?

(1) 1906 (2) 1907 (3) 1905 (4) 1908

In which year Britishers divided Bengal ?

(1) 1906 (2) 1907 (3) 1905 @) 1908
500Ul UM 9 ¢ ? i,

(1) tadlaaa (2) 2ydend

What was the name of Thakkarbay

(1) Navnitlal (2) Amrutlal

Qadl Al Wl ws s 8?7

1) AR 2) =

Which is the biggest ¢
M Asa
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68.

69.

69.

70.

70.

(I

71.

72.

@’“:L U oy axudl ousii A 2eudan a7
‘_". ; _ﬂfm 2) 2njw 3) [eta ) 1 24 2 i
Which is included in the most rainy parts of world ?
(1) Mon Sinram

_ ) Chet‘-'raptmji (3) Tibet (4) Both 1 and 2
A w2 2 iy wazen ... 53 8.

(1) ¥aaRy @) ¥era (3) dlazal (4) Fuara

The cover of gases around Earth is known as .....c......

(1) Hy'ﬂrﬂsphere (2) Lithosphere (3) Atmosphere (4) Biosphere
yedl W yenare L % ML A3 0.

(1) 80 @ n (3) 29 ) 50
Hydrosphere covers ........... «w.. % of area on Earth.

(1) 80

@ n @) 29 {430
A Bu S352 B2l ..

(1) Yol iR Ry s2-udl

(3) el At 83 s2-udl
Green House effect means ...............
(1) Increase temperature of Earth’s atmosphere
(2) Brings rain on Earth

(3) Decrease temperature of Earth’s atmosphere
WHO 4 43 -3 ..

af dau

2) yedld aRuE 2uuudl
@) 1, 2, 3 A8l As ua 1l

sessrssmsinEs @.




73.

79.

76.

76.

1.

i

78.

78.

79.

79,

80.

80.

81.

81.

82.

82.

T EIL TR EUTI L TEY R (3.l aied . |
(1) 1600 (5.3 ) 1700 (3.3 (3) 6100 (3.4 ) 7100 B3

Coastline of Gujarat is ............... km long.

(1) 1600 km (2) 1700 km (3) 6100 km (4) 7100 km

MIRAL R &ed S 58 B ?

(1) €8 2) 2L @) 529 (4) R

Which is known as the heart of Indian Constitution ?

(1) Rights (2) Preface (3) Duties (4) Rules

siRel wasl ARMAA 2 S el ?

(1) 3L A% UAE (2) L cusuRudst

(3) AR U4 () FURAE 8

Who was the President of Constitutional Committee ?

(I) Dr. Rajendraprasad (2) Dr. Babasaheb

(3) Sardar Patel (4) Jawaharlal Nehru At
alsueidl Yeell €2 Sea al wu 8 ? R T
1) 3 2) 5 3) 7 @9 -
After how many years, Loksabha elections are held every time ? .

(1) 3 @ 5 @) 7 @9

RAUBAAUMHL <..vvveeeen aell Rugs gyl 52 8

1 30 G U (2) 10 3) 12

............... members are appointed in Rajyasabha by Presi

(1 1 @) 10 3) 12

WRSE R coneporie e A 21dl wm Al 4 sel bt-l Q

(1) asmsi (2) yousi-l (3) s

Draft becomes an Act after it is signed by

(1) Prime Minister (2) Chief Minister (3

dlsaci nay s sel edi ?

(1) UREIR U24

(3) FAULRAE 18>
Who was the first speaker of Loksabha °
(1) Sardar Patel

(3) Jawaharlal Nehru

Mg tiHIRY A2 ANAUL W !
(1) 26 Ay2udl, 1952
(3) 26 Ay, 1951
When did our constitution c:
(1) 26 January, 1952
(3) 26 January, 1951

NMMS-2013
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